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These questions are for use in the Virginia High School League’s Scholastic Bowl State Championships. Shawn Pickrell, Marian Suter, Adam Fine, Chris Moretti, Susan Gallaher, Ross Irwin, Jason Mueller and Fred Morlan are the authors of these questions. Pickrell, Fine and Suter edited the questions, with the assistance of John Harris, Don Remnant and Samer Ismail.

The following condition must be known by all coaches, competitors and spectators of the competition:

These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups, worth 10 points

1.  It was founded in the 18th century by the Rabbi Israel ben Eliezer [eh-lee-AY-zer], who is also known as the Baal Shem Tov [bail shem toav]. The Lubavitcher and Satmar are the best-known sects of -- what branch of Orthodox Judaism that stresses an emotional communion with God?

ANSWER: Hasidic Judaism or Hasidism [DO NOT accept Haredi Judaism or Orthodox Judaism]

2.  In Mark Twain's The Adventures of Tom Sawyer, Aunt Polly is trying to raise not only Tom but Tom's half-brother. What is the half-brother's name?

ANSWER: Sid Sawyer

3. 
In which state of mitosis have the sister chromatids split apart, and begun migrating to opposite ends of the cell?

ANSWER: anaphase
4.  It is the home of the academies of the DEA and FBI and is the base for HMX-1, the Presidential helicopter squadron. What is this Marine base located in Prince William County? 

ANSWER: Marine Corps Base Quantico
5.  One solution has an unknown concentration. It is added to a second solution whose concentration is known, and the reaction between the two solutions is then measured. What is this process used in chemistry to determine the concentration of the first solution?

ANSWER: titration
6.  The magnetic poles of the Earth are offset from the rotational pole by about 11 degrees of latitude.  In what country is the North Magnetic Pole located?

ANSWER: Canada
7.  One of her first novels was Promise Me Tomorrow, published in 1984, and one of her most recent is Blue Dahlia, the first of her In the Garden trilogy. Who is this prolific American mystery writer who also writes the Eve Dallas mystery series under the pen name of J. D. Robb?

ANSWER: Nora Roberts
8.  THIS IS A COMPUTATION QUESTION. What is the geometric mean of the sequence {a, b, c}?

ANSWER: the cube root of a times b times c or the quantity a times b times c raised to the 1/3 power [(abc)1/3]

9.  According to the 3rd century BC historian Manetho, he ruled for 62 years and was killed by a hippopotamus. He was followed by Djer [JER] as pharaoh, and may or may not have been preceded by Narmer; in fact, some sources believe he may have been Narmer. Who is this man usually credited with uniting Egypt?

ANSWER: Menes (or Mena) or Hor-Aka (prompt on Narmer)

10.  Born in Compton, his grandmother gave him his nickname because he liked to run track and play basketball.  His brother Jevon was shot and killed, and in 2000 he began drug trafficking with another of his brothers, Big Fase 100.  Shot five times and left for dead, name this man, born Jayceon Taylor, who became a rap protege of Dr. Dre, and in 2005 released his album The Documentary.

ANSWER:  The Game
11.  It was fought from October 16 to October 19, 1813, and was the largest battle of the Napoleonic Wars. In it, 190,000 French soldiers were defeated by 335,000 Allied soldiers. What is this battle, also called the "Battle of the Nations" and the site of one of Napoleon's great defeats?

ANSWER: Leipzig (accept an early "Battle of the Nations")

12.   What principle states that the magnitude of a buoyant force on a submerged object always equals the weight of the fluid displaced by the object?

ANSWER: Archimedes' Principle

13.  In 2004, while en route to Ronald Reagan's funeral, his plane nearly got shot down by the Air Force after straying into restricted airspace. Who is this man that served four years in the U.S. House from Kentucky before defeating Ben Chandler to become that state's governor?

ANSWER: Ernie Fletcher
14.  Blockbuster's elimination of late fees was in response to -- what company, based in Los Gatos, California, which allows online rental of DVDs and a wider selection of movies?

ANSWER: Netflix
15.  This science-fiction character originated the saying, "I'm so hip, I can barely see over my pelvis!" He has two heads and three arms and invented the Pan-Galactic Gargle Blaster. Who is this alien that briefly served as Galactic President in Douglas Adams' Hitchhiker's Guide to the Galaxy?

ANSWER: Zaphod Beeblebrox (either is acceptable.)

Second period, 10 directed questions per team, worth 10 points

Questions with an “A” after their number will be read to the team that selects set A of questions; questions with a “B” after their number will be read to the team that selects set B of questions.

1A.
What prominent conservative judge had his Supreme Court nomination rejected in 1987?

ANSWER: Robert Bork
1B.
What is the name given to the temperature that marks the boundary between paramagnetism and ferromagnetism?

ANSWER: Curie temperature

2A.
THIS IS A COMPUTATION QUESTION. What is the limit, as x goes to zero, of the sine of x divided by x? {(sin x) / x}

ANSWER: 1
2B.
John Kerry was one of the two Senators who voted in the Senate Foreign Relations Committee to not confirm Condoleezza Rice. What liberal Senator from California was the other?

ANSWER: Barbara Boxer
3A.
A rainbow is described as "a celestial kaleidoscope" in the poem "Don Juan" [JOO-wan] by what Romantic poet?

ANSWER: George Gordon, Lord Byron
3B.
Give the first person singular present subjunctive tense conjugation of the Spanish verb hablar [ah-BLAHR].

ANSWER: hable [AH-blay]

4A.
What German philosopher wrote the classics Being and Time and The Basic Problems of Phenomenology?

ANSWER: Martin Heidigger
4B.
Who was the first Black mayor of New York City, a man eventually defeated by Rudy Giuliani?

ANSWER: David Dinkins
5A.
On the back of fern leaves one can observe brown spots; these spots are made of spore cases which contain spores. What are the observable brown spots properly called?

ANSWER: sorus or sori
5B. 
THIS IS A COMPUTATION QUESTION. If order does not matter, how many ways are there of selecting 4 items from a 10-item buffet?

ANSWER: 210 (10! / (6!)(4!) = 10 * 9 * 8 * 7 / 4 * 3 * 2 * 1 = 5040 / 24)

6A.
What was the occupation of Philip Marlowe, a character created by Raymond Chandler?

ANSWER: detective (accept equivalents)

6B.
What Soviet military leader oversaw the successful defenses of Leningrad and Moscow during World War II, later becoming Soviet Defense Minister?

ANSWER: Georgy Zhukov
7A.
Because of descending air masses, rain shadow effects, temperature, or size, some continents are drier than others.  On average, what continent is the most arid?

ANSWER: Antarctica
7B.
Spell the third person plural possessive pronoun that follows a linking verb.

ANSWER: t-h-e-i-r-s
8A.
Which college football team ended up 13-0 after defeating Virginia Tech in the Sugar Bowl, but had to settle for #2 after Southern Cal whipped Oklahoma the next day?

ANSWER: Auburn Tigers

8B.
Which American painted portraits of the silversmiths Nathaniel Hurd and Paul Revere, as well as the canvas Watson and the Shark?

ANSWER: John Singleton Copley (KAHP-lee)

9A.
Birmingham is the second-largest city in England. But what city in Northwest England has the second largest metropolitan area and a famous soccer club?

ANSWER: Manchester, England

9B.
THIS IS A COMPUTATION QUESTION. What is the perimeter of an isoceles trapezoid with area of 150 and bases 10 and 20??

ANSWER: 30 + 10*SQRT(5) (the formula for the area of a trapezoid is A = 1/2 (a + b) * h, where a and b are the bases and h the height. So, 150 = 1/2 (30) * h --> 150 = 15 * h --> 10 = h)

10A.
THIS IS A COMPUTATION QUESTION. It takes an average of 3 minutes to write a Scholastic Bowl question. Given that there are 5 spare questions per match, and remembering the Scholastic Bowl format, how many hours will it take to write an entire 8-match tournament?

ANSWER: 22 hours (15 + 20 + 15 = 50, 5 spares, 55 questions per match. 55 * 8 = 440. 440 * 3 = 1320. 1320 / 60 = 22.)

10B.
Who won the 1949 Nobel Physics Prize for predicting the existence of mesons?

ANSWER: Hideki Yukawa
Third period, 15 toss-ups, worth 10 points
1.  The Adventures of Huckleberry Finn by Mark Twain is an example of this genre (zhon-ruh) of novel that tells the story of a clever rogue or adventurer. What name is given to this genre?

ANSWER: Picaresque
2. 
If an animal cell is put into a solution of very salty water, the animal cell will shrink. Compared to the animal cell, what is the name or condition of the salty water solution?

ANSWER: hypertonic solution

3.  On June 20, 1898, the Spanish garrison of this island surrendered, as they didn't know Spain and the US were at war. Between December 1941 and July 1944, it was occupied by the Japanese, and after World War II, its residents became U.S. citizens, although they couldn't vote in Presidential elections. What is this island located in the South Pacific? 

ANSWER: Guam
4.
THIS IS A COMPUTATION QUESTION. What is the fifth element of the sixth row of Pascal's triangle?

ANSWER: five
5.  He did not begin his musical studies until age 9, but by 11 he was performing Bach's "Well-Tempered Clavier."  At first loved by the Bolshevik government, he drew their ire with the opera The Nose, denounced as bourgeois (boor-ZHWAH) and decadent.  What Soviet composer of fifteen symphonies was admitted to the Communist Party in 1960, even though his Babi Yar Symphony labeled the government as anti-Semitic?

ANSWER:  Dmitry Shostakovich
6.  He was one of the leading British poets of the 1930's, writing such poems as "From Feathers to Iron" and "Overtures to Death," and was serving as poet laureate at the time of his 1972 death. What British poet is better known in the U.S. as the father of Oscar-winner Daniel?

ANSWER: Cecil Day-Lewis
7.
This book features the second appearance of CIA director Teddy Maynard, who was also in The Brethren.  Italian locals, including a boy named Ermanno and a CIA man named Luigi, teach the title character, lawyer Joel Backman, the local customs - that is, before he has to run for his life from Israeli and Russian assassins.  Identify this spy thriller, the latest novel by John Grisham.

ANSWER: The Broker
8.  It was built in 1417, and is 880 meters north-south by 500 meters east-west. Its name means "The Gate of Heavenly Peace," and it contains Mao Zedong's mausoleum. What is this place where Mao proclaimed the People's Republic of China in 1949 and where democracy protests occurred in 1989?

ANSWER: Tienanmen Square

9.  His most famous arrest came in 1995 for illegally using a database system and was followed by his being held for four and a half years in jail without a bail hearing. Name this hacker, arrested after evading authorities for two years, who was famously banned from using the Internet for a year after his 2002 prison release.

ANSWER: Kevin Mitnick
10.  As a noun, it can refer to a pouch like enlargement in the digestive tract of some annelids and insects. As a verb, it can mean to cut very short, especially with a photograph. What is this four-letter word that also refers to the amount of produce a farm can produce in a year?

ANSWER: crop
11. 
Sometimes, this childhood disease also affects the testes, and very rarely will cause infertility. It is also called epidemic parotitis, due to its enlargement of the parotid glands, the largest salivary glands. What is this disease that is in the MMR vaccine along with measles and rubella?

ANSWER: mumps
12.  In this book, the author originates the term "nihilist." What is this work, featuring a Russian gentleman Kirsanoff, his older brother Pavel, his son Arkady, and his mistress Fenichka, which was written by Ivan Turgenev?

ANSWER: Fathers and Sons
13.  The Democratic Alliance is the official opposition to the ruling party in this country. The New National Party is the descendant of the party that ruled this country for decades. The Inkatha Freedom Party is another party in -- what country ruled by the African National Congress?

ANSWER: South Africa
14.  He was appointed to the U.S. Senate by then-Governor Walter Hickel in 1968, and has served since then. As Chairman of the Senate Appropriations Committee, he has steered millions of dollars to his state. Who is this man, the President Pro Tempore and senior U.S. Senator from Alaska?

ANSWER: Ted Stevens
15.  One legend has it that she helped the sun god Ra distance himself from the earth and humanity by turning into a cow and raising Ra on her back.  Ra, however, was upset when this goddess married her twin brother, and decreed that she could not have any children.  Yet the god Thoth won a game with the moon to extend the year, and she gave birth to Osiris, Seth, Nepthys, and Isis.  Name this sky goddess, the consort of Geb.

ANSWER: Nut (NOOT)

Spare questions 
Try to replace the question discarded with the spare question in a subject area – i.e. science for science, social studies for social studies, etc.) Be sure to mark off the questions as they are used.
1.  In his first nine years as Secretary of the Treasury, he reduced the public debt from $26 billion to $16 billion. He cut the government's annual budget from $6.5 billion to $3.5 billion in his first three years. Who was this Secretary of the Treasury that served from 1921 to 1932 and partial namesake of a Pittsburgh university?

ANSWER: Andrew Mellon
2.  He was trained as a goldsmith, but quickly learned sculpture, succeeding Donatello as principal sculptor for the Medici family.  For Lorenzo the Magnificent, he completed the bronze Putto with Dolphin and the terra cotta Resurrection.  Who was this Renaissance sculptor of the equestrian statue Colleoni, perhaps best known for running a workshop that included students Perugino and Leonardo da Vinci?

ANSWER:  Andrea del Verrocchio (vair-OAK-ee-oh)

3.  It can mean a male bovine castrated before reaching sexual maturity or to guide by means of a device such as a rudder, paddle, or wheel. What is this five-letter word?

ANSWER: Steer
4.  What element with atomic number 38 is in period five and group two, the group once known as the alkali earth metals, and has a chemical symbol of Sr?

ANSWER: strontium
5.  THIS IS A COMPUTATION QUESTION. A rectangular planter can hold 2304 cubic inches of soil if its dimensions (length, width, height) are 24 by 12 by 8. In lowest terms, what fraction of the original volume would another planter's volume be if its dimensions are 8 by 18 by 2?

ANSWER: 1/8 [8 * 18 * 2 = 288, then 288 / 2304 = 1 / 8]
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